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1. €Jl=014

(S B0 %, %P)
= FY 2006.1/4[FY 2005.1/4 =& Hl 1
S=0l =307 469 =776
2.&0ol=2
(S80I %, %P)
— = FY 2006.1/4[FY 2005.1/4 =& Hl 1
S AH 2= G oH 7,476 2,926 4,550
JUFEEEE 14,958 9,980 4,978
=o= 50.0 29.3 20.7
* ™4 J|IE
* MG AFD|FO =AM (EUAHMAIIZTHM AIZARE J|Z=0=2 £H)
3. ZUUAEANSHI =AIHHIS
(SH2[: B0 %, %P)
— = FY 2006.1/4[FY 2005.1/4 =& Hl 1
= At Y| 20,378 14,550 5,827
0 8 AL B 42,884 22,237 20,648
= Al H|= 47.5 65.4 -17.9
* A™ A4 J|E
* MG AFD|FO =AM (EAHMAHIIZTHM AIZARE J|=0=2 £H)
4. 2EXAM01YE
(SH2[:BHOLR %, %P)
2 = FY 2006.1/4]FY 2005.1/4] =2 bl
SENZ 2 243 195 48
ENFAHE 9 17 -8
SENF A EL 234 178 56
| =2 ERHat 28,044 18,409 9,636
)| U 2E Ko 27,406 28,157 —751
S EAHAE 27,608 23,194 4,414
SZ 019 = 3.4 3.1 0.3
5. ROA ¥ ROE
(S BHOLR %, %P)
— = FY 2006.1/4[FY 2005.1/4 ) Hl 1
N HAEZL S XA 45,666 34,811 10,855
SE21Y SAHat 45,976 45,893 84
N HAEZL == 13,091 5,866 7,225
g2 sSk= 12,756 18,323 -5,567
=Pl =307 469 =776
ROA(Return on Assets) -2.7 4.7 -7.3
ROE(Return on Equity) -9.4 15.8 -25.2
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1. KHAte AAY 28 (Er9l: eiore)
(E491: 84012l %)
- = FY 2006.1/4]FY 2005.1/4] =2 bl
SRR 27,717 35,489 7,772
IHE AT 191 249 -58
SATA HIE 0.7 0.7 0.0
2. AABINS LB
(E491: 840121, %)
- = FY 2006.1/4]FY 2005.1/4] =2 bl
ESON, 36,079 40,198 4,119
9l B S XA 15,735 17,153 1,418
SIB IS RIS 43.6 42.7 0.9
3. RIEHER L Bt
(E421: 8401l %)
2 = SHOtY | Hopeol
SIS 0 0
HENEEH 12,450 16
UBHH BIEREH 0 0
NEHHSETFA 0 0
| 12,450 16
SEHE 0 0
8 12,450 16
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